Sechon 4.8 Antiderivotives

Le.o.minq Goals

Learning Goal

Homework Problems

4.8.1 Compute general antiderivatives by inverting derivative rules.
Verify that an antiderivative is correct by differentiating.

1-114, 119-131.

4.8.2 Use antiderivatives to solve initial value problems.

89-130.

4.8.3 Construct an initial value problem to model given information.

119-124, 126, 130.

4.8.4 Answer conceptual questions involving antiderivatives.

89,90, 115-118,
131, 132.
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Examele_s: n) We  Saw above  that
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Lineanty rules Por anhdemvahves :
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Inibal Value Problems : 1 we know f'(x) and one point
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